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1. To recapitulate a discussion is to it.

(A) memorize (B) monopolize  (C) summarize (D) capitalize

2. "Did he your letter?”
"Yes, he did. He said he had received my letter.”
(A) facilitate  (B) acknowledge (C) inhabit (D) initiate

3. Nutritionists food into seven basic groups.
(A) clarify (B) grind (C) classify (D) channet
4. The mailman approached the house _ because of the vicious dog.

(A) hastily (B) precisely (C) cautiously (D)) deliberately

5. She has so much no one car resist her.
(A) charisma  (B) beauty {C) appeal (D) grace

6. The design of wildlife refuges is still a matier of considerable
(A) significance (B) controversy  (C) urgency (D) concern

7. The function of ears in hearing is to the sound waves to nerve impulses.

(A) represent  (B) convert (C) prove (D) manufacture
8. Initially, Heather found it difficult to _ her new environment.
(A) cope with  (B) contend (C) create (D) deny

9. A number of animals in Aesop's fables are portfayed as being
{A) vain (B) virtnous (C) artistic (D) crafty

10. The old often like to give some gond . to the young.

(A) advice (B) advisor (C) device (D) desire .

11. Events of earliest childhood often profoundly one's later life.
(A) affect (B) effect (C) infect {DD) respect
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12. A home is not only a house to live in but also the center of connected with
family life.

(A) Decorations  (B) affections (C) permissions (D) affectations

= ik RRERE (A)-D) VEaRASaEMER (FEM 134, 44
25, £264)

13. A large portion of the current debate over the implications of the women's

liberation movement -------- too charged with emotion to be informative.
(A)is (B) are {C) has been (D) to be
14. The boy's mother was very angry because there ------ boeks and clothing scattered

around the room.
(A) was (B) were (C) has been (D) to be

15. Having studied your report carefirlly, I am convinced that neither of your solutions

===nn== COITECL.
(A)is (B) are (C) has been (D) to be
16. To balance a budget is to show that the sum of @ man's earnings------ the
sum of his expenditures.
(A)toequal (B)equaling (C) equals (D) equal
17. Mr. Brown often wore a heavy coat becausie he was not used ----in such a cold
climate.
(A)lives  (B)living (C) to living (D) to live
18. Structures in areas which have earthquakes are built ---- shocks.
. (A) for withstanding (B} to withstand
(C) withstands (D) withstand
19, When we had finished -------— the article, we began to discuss it among ourselves '
in spite of our ignorance of chemistry. ‘
(A) to read (B)reading  (C) to reading (D) of reading
20. 1 intended --------- her a letter yesterday, but { forgot to because of the day and
evening appointments that I had. '
{A) to have written (B) to write (C) written (D) writing

21. Entering the room, .
{A) the TV set was on the table.  (B) the TV set was put on the table.
(C) I saw the TV set on the table.
(D) the TV set had already been put on the table.
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22. Upon hearing of the disaster, --—------—----———-,
{A) the Red Cross sent aid at once
(B) the fled Cross aid was sent at once
(C) aid was sent at once by the Red Cross
{D) aid of the Red Cross was sent at once

23. Both of the Mayor's speeches on education were good, but the second was plainly

the .
(A) best of the two (B) best of both
(C) better of the two (D) better of each

24, He can remember the past more accurately and more vividly than ~------ :
(A) neither of his parents remember (B) either his parents are able to
(C) his parents can ' {D) memory of his parents have

25. Because of the popularity of television, children seem to be rdading--—--- .
{A) not as much as before
- (B) less than before
{C) less than they usually did
{D) only a little rather than what they did
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8] .
Research on teaching and learning emphasizes the need for school-family
partnerships, student engagement, opportunities for relevant and authentic lea;ning,
and community involvement in the learning process. The case of a gifted but bored
"problem student"” shows how a school counselor encouraged colfaborative problem
solving among teachers, parents, and the student himself that drew on
community-based learning opportunities.

2) :

Specific teaching strategies for helping talented girls in mathematics are
discussed, These include: creating a supportive learning environment; providing =
single-sex learning opportunities {in mathematics and appealing to the strengths of
females as motivators; using activities that are relevant to girls; creating a challenging

curriculum; and providing female mentors.
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2. BEEIAY public schools

3. @AY liberal arts colleges

4 HERIEE (educational ethnography)
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